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607 (71/11.‘;) & 210 1=
Part - —1 T ———— o

Answer briefly any SIX parts from the followings:- 6x2=12 -q/(f_-.ylﬁ/"'fim 7 ;ch_.‘,CJ:j(;» .

r
If 82% of the houses have television. What percentage 17 Lﬁ’ui;sdfu!u:_;ydé‘_’ }u,qui:,dfufu,__,x’ 82, b1 (i)
do not have?
Define Proparation. —u'-)’-i’/‘;d b (i)

gl %3600 15 F (i)

Calculate Usher on a rice crop produced by natural resources _u'.f (}V// 2-1,6,00,000 (,dl J J,b ol oo dlu du: (iv)
amounting to Rs.6,00,000

Find the unknown term x in the proporation x : 3 :: 60 : 15

Calculate Zakat on gold amounting to Rs.11,10,000 s g i Uning s 11,10,000 22 Jif W)
Define Loss. Je_'l:.y/JJuLa? {vii) Define Discount . _.c‘:._e'/’J...a‘f (vi)
Find CP when SP =Rs 2640, Loss = 12% c3pcd=2600L  UWP=12% L ZEoaiad (viii)
Define ATM Card. L A Gt (X
Answer briefly any SIX parts from the followings:- 6x2=12 “J/"/ulyb’/‘.”[.l?l s .:..J:"c..pﬁgf_ib» -3
Define bonus. = Al W

Find value added tax on television of amount Rs.12000 2 (,lw-c Juie A 10% oy £ =F 112000 (i)
at rate 10%

The price of computer is Rs.34,800. Find the sales tax 2L (Pagﬂfc_. L8 16% .7_,{,,;34800.;2 Sad G0 (il
at rate 16%

Prove that 3log 2 + log 5 = log 40 3log 2 +log 5 = log 40 fS=zt (V)

log36 log36 )
Solve log 6 fost J’
Solve:- log; (x+1) =2 2L Ff logy (x+1) =2 (vi)

Find unknown elementof AP if a=2 4, = 402 n=26 a=2,a,=402 n=26 ﬁ?f’_:(:"’/’r)”tuf.l}d‘f (vii)

Find 45 in G.Pif a=2 and r=3 pr=3sta=2 02 o b sd g A (i)

Define Arithmetic Sequence. -é-y,;JJJ’ 3 (ix)
Answer briefly any SIX parts from the followings:- 6x2=12 -L[./Q;alﬂﬁfﬂﬁizl 4 .:-_.Jf.:.utd_'j o -4
Define Universal Set. -J_/HE’/JJ-:{ 3¢ G

B =(4689) « A={1478)1 (i)
L e ANB 1 AUB

fA={1478), B={46389}find AUB ang ANB |

Define function g/ i) SFe (i)

Represent the Point (4,4) on graph paper.
Convert 150 °F into Celsius degrees (°C)
Define Histogram. -2 S i)

For the data set 5,4,5.4,3,4,26 Find the mediari

|||||

Define Standard deviation.

P.T.O

u Sy p S @a B W)
et (C) 2 JET150°F ()
Define Origin. _u"/...iJ/-'J;Iy (vi)

iiiiiii

e A iX)
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N T S IR (I P Ui spiik e § & g Sl e L LS s PAPER CODE
Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct;
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles

will result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both

sides of the Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation.
Use of ink remover or white correcting fluid is not allowed.

(D) (C) (B) tA) QUESTIONS Q-1
3 19 23 20 e ag 3741, | 1
a, of 3,7.11,.....is
@ BuA4 ANB B4 AVB=? jursrnB s A | 2
if A and B are two non empty sets, then A\ B=?
’ . o i ‘e triisy St Py =cable| 3
Graph of equations in the form y = ¢ have y co-ordinate.
S e o 10 7 7 L T0%]| 4
None of these 7 10 Fraction form of 70 % is:
111 b S Yl de s Vbt erfab=2] 5
Consequent Antecedent Mean Extreme in aratio a:b, "b" is called.
1500045, | 2000&s | 25000os | 25004 e V37355, 5s10,0000| 6
Zakat on amount of rupees 10,0000 is.
1 ] 1 1 JL!’JI'!:’/-_;JJU;IJJIJ(LJ)J..;@LJU:fuf.:/‘anuj 7
6 2 8 4 oy

The share of a widow in the presence of a
child or agnatic grand child is.

ehjedriied | ehjedagicd | eanjped ijcd | ehpad=sici '-/'é—t“ﬂ s | 8
SP>CP SP=MP SP<CP SP=CP Loss is there when:
C? Lf.!.' (.:{'{ -..,.JJ:L ale tf&b&b.ﬁ_zﬂﬁ{%)d‘; 9
Profit Bonus Premimum markup The return eamed by the bank on loan is named as.
gL o L2 W e Sbr LHSL A9 | 10
Insurance policy Insurance insured Insurer The company undertaking the act of the insurance is called.
JgJ.;u; SEL Lfcfr ' cieteyfoe ML Singn| 1
Property Tax Direct tax Income tax The tax charged on the owner of a land, house
fiates or building is called.
dgs AL S N fFdee=ifzd | 12
" Excise duty Income tax Sales tax The tax in addition to the price of article is called.

2/ | 2% 2 ¢ "y sy 13

"ﬁ. o
* e V=3 a; £26.18,....| 14
30 162 160 ; Lo
a, of 26,18,.....1s
ook bost K LAl _ etblfert/ T(x,-X)=01 15
Mode Harmonic mean Geometricmean | 2_(x,— X )=0 is one the properties of. '

-0918- 20000 (4) S@p.- G- 2-19
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Answer briefly any SiX parts from the followings:- 6x2=12 _u_’):/f‘.:aUﬁ/ﬂé:lZi 4 L-J;C-p:d_}b» =

Converl 54% into decimal fractior.

If 82% of the houses have television, what percentage
do not have?

Express 48 % as fraction in their lowest form.

What is the Nisab of Zakat?

Calculate the amount of Zakat of gold amounting to Rs.11,10,000
Define Profit and Discount.

The selling price of 12 articles is equal to the cost price
of 15 articles. Find Profit Percentage?

Find seliing price, when discount = 6% and marked price {MP) = Rs.728

How many types of Bank accounts? Also write names?

JE Jud A 54% (i)
vl g udae 8 sunupd Lusd 82% 41 (i)
T

2 Evt Soris, ST 48% (i)

. e VWK (iv)
;-gr};*s}’;{ U1 9714-2,11,10,000 = Jz_rﬁ (v)
E AP Al (i)

(P ar d 8’; e Llaid G158 =35 ) =8 $o2112 (vii)
i Ln=T8 Ly A = 8% G 2 (H =i pd (Vi)
--".-';_—’_/frt.f. L-)!ng_ﬁfib’ié (-)u"’;t..f_- (ix)

Answer briefly any SIX parts from the followings:- 6x2=12 S fen Pl g e fdsbn 3

Define Excise duty. -q/.@i;{dgiy'lé" {ii)

Whal is Income tax?

Write Scientific notation 0.00000075 U=z 76 (v)
Write first three terms if a, =3n+ 5 _dgriwflg'jdi(m (vii)
Define Arithmatic Mean -/ 7d bs 3% (ix)

Define Down payment. -u_’f..i_J/JJ..we;_ i (i)
st EA i
simplify ¥81x¥27  _Z & ()

‘Evaluate fog5 + log4 + log3 - log6 s S (i)

Find G.M between 4 and 9 -&5 (ks AUE 914 (vili)

Answer briefly any SIX parts from the followings:- 6x2=12 _Q‘f(fpktﬁffﬁlzl 4 cedfe 2 Jils -4

What means union of sets.

Find AVB it A={1478},8={4689)
Find AxB if A={3,56},B={13}
What means an ordered pair?

Represent the point on graph A ( 2,-4)
Convert 97°F into °C

What means Histogram?

||||||||

What means the mode?

P.T.O

teyVe Ly Lure )
A={1478).B={4889) /i AV B (i)
A={356), B={13) Nt AxB (i)
e Ve 7 W)

A(24) -2 o8 W

E St °C L 9TF i)

e sy Ye YK il

gy 54543426 2L sty (viii)

S slp Ve 0l (ix)

565.9-2-18

926-0918- 20000



